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Section : General Aptitude Knawfedge

Q1 1t is a convention to call the charge acquired by a glass rod when it is nibbed with silk as:
Ans > 1 Negatwe :

X 2 Natural

X 3. Neutral

v . Positive

Question ID : 1860451994
Status : Not Answered
Chosen Option : -

Q.2 What is India’s rank among the 74 emerging economies in the Inclusive Development Tadex released by the World
Economic Forum (201_ 8

Ans XT 52
X2 4
X372
62

Question 1D : 1860451 993
Status : Answered
Chosen Option : 3

Question ID : 1860451992
Status : Answered
Chosen Option : 2

S

@4 Which state is the largest producer of wind energy in India?
Ans X 1. Maharashtra

X 2 Gujarat

¥ 3 Tamil Nadu

RN1R2420/1 265001 RAPARENARIMBAARRT 1R A4 A1Q4441 4170
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X . Rajasthan

Question ID : 1860451987
Status : Answered
Chosen Option - 1

b

Q.5 1n which state has the Govemment of India lauchied the first Tribal Circyir Profect under the Stvadesh
Scheme?

A X 1. Madhya Pradesh

X 3 Bihar

Question ID : 1860451990

Status : Not Answered
Chosen Option : w

Q6 The ray that comes back from a surface after the reflection is Ko o5
Ans v a reﬂectedf'ay

X2 an incident ray

X 3 analpha ray

X 4. anx-ray

—

Question ID : 1860451995
Status : Not Answered
Chosen Option : -

Q7 _of the Constitution of Indja deals with .
Ans o 1. Articie 40. organisation of village panchayats

X 2. Atticle 484 uniform civil code

X 3. Article 45, uniform civil code

X 4. Article 40, fundamental dutjes

Question ID - 1860451997
Status : Answered
Chosen Option : 1

9% Which Indian boxer won a Gold Medal in Asian Games 20187
A X4, Shiva Thapa
X 2 Gauray Solanki
¥'3. Amit Pangha]
X 4 Manoj Kumar

Question ID - 1860451991
Status : Answered
Chosen Option : 3

29 Which of the following is correct>
Ans v 23

Fi
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Shashnkajaliakedkar was the first woman Chief Minister of Uttar Pradesh.
X3

Janakxkamchmdranwastheﬁrst woman Chief Minister of Uttay Pradesh.
X a

Nandini Satpattry was the first woman Chief Minister of Uttar Pradesh,

doh el |

Question ID : 1860451988
Status : Answered
Chosen Option : 1

X 4 Odisha

Question ID : 1860451986
Status : Answered
Chosen Optian - 2

Q.1 Aﬂaﬁumm‘msﬁed_mb@wﬁ“&m_ b beoen ot g ki B
1 Mhﬁy.mmbwmiw%‘ay“m“msiems G m'. ‘ttm Tevery L.

Ans. me i Mmday
X 3 Full moon day
X 4 Half-moon day

Question ID 1860451996
Status : Not Answered
Chosen Option : .-

sapir 5 Uttar Pradesh
X 2 West Bengal
v 2 Kerala

X 4 Goa

Question ID : 1860451989
Status : Not Answered
Chosen Option : -

Section Logical Reasoning

Q.1 Inacode language, WORK: i sriften 03 NOSL* and “TIME" is written as ‘UINE'. How will 'SALARY" be written?
Ans X 1. TBMBSZ
X 2 TAMBSZ
X TAMASY
v 4 TAMASZ

£

i |
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Question ID - 1860452006
Status : Answered
Chosen Option : 3

‘positon of g2

Note: For this q

to all candidate

Q2 Eight friends BQ. R 5, T, 1, v and W are sitting aroung a cirelar table. U'is on i immediate right of Q. Vs e
neighbour of T. R j5 berween Tand U. Wis-on the immediate foft of P i

it 5 'Oxi'.fhéiimmeﬁiat;e:ieﬁ of P
X 2 Between Q and U7

X3 Second to the right of {7
¥ 4. On the immediate Joft of Q

uestion, discrepancy is found in question/answer. Fyji Marks is being awardeg
S.

-!mtismﬂﬁéhgighbaurgﬂ‘drs; What is the

Question ID : 1 860452001
Status : Not Answered
Chosen Option ; «

Question ID - 1860451999
Status : Not Answered
Chosen Option : -

Question ID - 1860452003
Status ; Answered
Chosen Option - 1

Qs In & class test of 45 students,

Ans o 25th
N2 29nd
X 3 20th
v & 2qst

one student is tanked 25™. What js 1is rank from the bottomo

Question ID 1860452005
Statuys : Answered
Chosen Option : 4

ode1//1258018428/1 25801 842855D663/1 5446871641419144/._ 4/30
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Ans > 1‘729
2 196
'3 343
1502

Question ID : 1860451998
Status : Answered
Chosen Option : 4

- "WW%T%hwﬁ@m'm'mbﬂ?d{‘ﬁ?ﬂm--m}*hom are there on the srger

Question ID - 1860452004
Status : Not Answered
Chosen Option : -

4,376895-4;57-s4_5§'55&sa-?7-9
Ans X 1. One

V2 Four

X 3. Two

X 4 Three

Question ID : 1860452000
Status : Not Answered
Chosen Option : -

Ans X 118 135
» 2 39,272
Vs 23, 161
X4 31,216

Question ID - 1860452007
Status - Answered
Chosen Option : 3

Shweta Shacuui did her MBA vig 9pen school affer finishing her mechanical engineering, She secured 550 uiatks in hee
MBA and 7ﬂ6mhas€ngikeqipgcwrs¢ She scored 63% marks in the selectiog.teslmg"m%margxin the interview,
Her date of birth is 25 December 1992
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A K 1. The candidate is not to be selected.
X2

x 3 The candidate is to be selected.
V' The case s to bézref;érr_ed'iol:fﬁé;}irégt_og-fRecxtqitmeﬁi.._

Question ID : 1860452009
Status : Not Answered
Chosen Option ; =

Q.1 Consider the Eiven statements 1o be e even if they seamy Tactually absurd and decide whick of ti:ermélusion(sj
1 logically foliows’ foliow from the statements. . J

Statements:
All officers re graduares. Al Clerks are graduates,

Conclustons:
FrE

s 1 Only conclusion I follows,
X 2 Ouly conclusion 11 follows.
X3 ‘Neither conclusion follows,
X 4 Both the conclusions follow,

Question ID : 1 860452002
Status : Answered
Chosen Option : 1

the Chairman, Recminneh't'comm'nee.

Given below is informatiog abogt A candidate. Analyse it with yefarorice to the above critesia and conditions and then
decide the appropriate coursa of action. You are 20t 10 assuie anythitg other than the given information,

Sohail Singh is MBA with 76% marks, He hss been working a5 an executive ia his wiole's fiem since Deceaber 2015,
He scored 729 marks in the selection test and 709 mapics in the iterview, His date of birth is jqth Angust (993,

Ane X 1 Thecasels to be referred to the Director, Recruitment.
X 2 The candidate is not to pe selected.
'3 The candidate is to be selected,
X ol
The case is to be referred to the Chairman, Récmit_n;entréommi;t?e.

Question ID : 1860452008
Status : Not Answered
Chosen Option : -

o Clrewit Analysis

Q.1

6/30



2/19/2019

Ans x 1. 89“’,,150“’
V2 W liw

.

ik ek |

Question ID - 1860452029
Status : Answered
Chosen Option : 2

Ans x 1. ngun
X3 1130
X4 Liooa

Q.2 Amﬂewﬁsmmﬁmmfxﬁmm-wwmﬂ%ﬂm atone end of the cable. The
d from the other end is found to be 100 © When the cable i'700 m long, The value of

Question ID - 1860452013
Status : Not Answered
Chosen Option : =

Ans of 1. 2380
X230

X3 2380
X42380

Question ID : 1860452018
Status : Not Answered
Chosen Option : -

Q4
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| The value of w{tages Viand V, for ﬂ}ecu‘cuifshoﬁ’nbeiowi&
{Use Nodal Aaalyms)

s X130V 37 v
X2 17V 34 v

v 103V 73 v
X4 710V, 3/7v

Question ID - 1860452016
Status : Not Answered
Chosen Option : .-

Q.5 A conductor o .5 g diamater wire hins 4 resistance of 400 ¢ Find the resistance of-@i:‘_mmeieugm:'nfwim,&it‘ﬁ
diameter were doubled.

Ans VT, 1{}(3{}
X2 200
X33500
X4 1500

Question ID - 1860452030
Status : Answered
Chosen Option : 2

® For the circuit shown in the figure below, the value of currents I, and I is:

Ans x 1. I_AQ 1.5A
V2154054
X33A4254
< 4 25A.15A




I beeehiliaia)y

Question ID : 1860452012
Status : Answered
Chosen Option : 2

Q.7 A230Viamp is tated o pass 5 CUITe of 6,34°A. Calenlate its power ontput, If a second similar famp is connected jn
parallel to the lamp, calcalafe the mw{ycmmmgmredmg}ve the SN POWEr Sutput in eqoh ﬁ?nip §

Ans i 4 -goggA
XK315A
X4024

Question ID : 1860452027
Status ; Answered
Chosen Option : 1

A o 1375 ma
X 2 200 maA
X 3 150 mA
x4 IGOHIA

Question ID - 1860452033
Status : Answered
Chosen Option : 3

Q.9 For the netwaric junction Sﬁownﬁ:-dwﬁamt._tai_mléie the cusrent I, given that Iy =3Ah=4Aamdi =24

Question ID : 1 860452026
Status : Answered
Chosen Option : 4

Ans of 1 314

X2 314

X 3314

X4 318

Question ID : 1860452023
Status : Answered
Chosen Option - 2

Q.1

https:llcdm.digialm.oomllloer/ao 1lDub/1258/touchstone/Asse.¢ﬁmenfOF'HTMI Mnoda1//1258801 RAIRI1958 M4 RARQENARUIBAARRT1RA4 A1Q4441 amn
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" For the network shown i figure "

+the value of supply current and source emf is:

Ans o 4. 45A,36V
X2 15436V
X3 154,27V

Question ID - 1860452014
Status : Answered
Chosen Option : 4

Q.1 -Aresistance of 1002 is connecied int series tyith two resista eachiof 15.0 parallel, What
3 .temﬁdacmt'hispamuelmmﬁ-msoﬂntth_etdm-ﬁnmnrfakensﬁnﬂbeISAmmV_dgpladvodmgw
Are X158
X250
¥i360
Xepo
Question ID 1860452024
Status : Not Answered
Chosen Option ; ==
Q.1

3 Forthe circuit shown in the figure. the value of current ‘I’ js

—

X234A

Question ID - 1860452019
Status : Answered
Chaosen Option : 4

10/30
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C;.1 A heater takes 5 current of 7 A from a 2363 source for 12 h. Calenlate the energy consumed (in kwiy),
Ans o | 19, 33;_‘%
X 2 161 kwn
3276 kwn
X 4 3864 kwh

Question I - 1860452028
Status : Answered
Chosen Option : 1

B A
X 2 _;aéﬁ'f_.bé&'

Question ID - 1860452022
Status : Answered
Chosen Option : 4

Qé" The value of admittance parameter Yy for the TWo-port network shown in the figure is:

i1 L R T

Ans X 1. '02 mﬁﬁ

v'2..0.05 mho

X 0.1 mho

X 4.0.05 mho

Question ID - 1860452020
Status : Answered
Chosen Option : 3
R

Q.1
7

11/an



Question ID : 1 860452017

Status : Answered
Chosen Option ; 2
Mt i R e

Q.1 A voltage divider

et IS to give an ontput voltage of 10 V from an input voltage of 30V 5 shown in'the figure, Givay
8 Ry=100.9. The vajye Gfmsismn_ce Ryis:

Question ID : 1 860452011

Status ; Answered
Chosen Option ; 4

%! Find v, in the following circuit using supey position

theorem.

Question ID - 1860452031

Status : Answered
Chosen Option : 3

Ans ¢ 4. 56'*&;‘10{_}&?
X2 200V, 100V
V'3 13333 V. 66.66 v

https:llcdM.digialm.comﬂlperlgﬁ1 /publ1258ftouchstonelAssessmentQPHTMLMode 1//1258018428/1 25801 842855D663/1 544687164141914 .. 5
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Question ID : 1 860452032
Status : Answered
Chosen Option - 3

Ans ¢ 1. 12v
X23vy
v josy

0 below, the value of the supply voltage s o T

e -

Question ID : 1860452010

Status : Answered
Chosen Option : 4

Q 2 Forthe nﬂwod:shownmﬂle figure, celculateﬂ:eeﬁ‘ecuve res

Ans X168 Q9764

X21230.4884
43 1,23 Q, 9.76 A
X+1370,488 A

istance and the supply current.

Question ID 1860452025

Status : Answered
Chosen Option : 4

Q.2

1290




Ans o 1. 6V

X210V
K3 a5y
X4 q0v

Question ID : 4 860452021
Status ; Answered
Chosen Option : 3

M KB Adasi

V2 2854 357 A 0724
X3 285A,357A, 074
X4 28543574 0704

Question |D - 1860452015

Status : Not Answered
Chosen Option : =«

Section Machines

a1 —__isatypeof Singl_e-phasemotor which has the lowest speed.
Ans o1 Shaded pole

# 2 Hysteresis

X3 Universa]

# 4. Repulsion
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Question ID 1860452050
Status : Answered

Chosen Option : 1

doeekin et |

Q.2 j#ﬁuee:p&fgseim’iut?ﬁq;nninmr.i&rdnpjh at 4% sfip. Tt the iy torthe roto i5 1,000 W, ¢} echanical pows
bythemmwiﬁbe : & 8t Fooslip: Tt the dnput ) i 1s 1,060 ﬁh’ﬂlﬁemehgmcafpmwer

ave 31NN
X2 096w
X 49,600 W

Question ID : 1860452048

Status : Not Answered
Chosen Option ; --

X 2 number of poles
V' phase sequence of supply voltage
X Sugp}y ﬁ'equengj :: v

Question ID : 1860452045
Status : Answered
Chosen Option : 3

Q4 The primary of a — should never be energised when jts secondary is open circuited.
X2 autotransformer

X3 Potential transformer

v current transformer

Question ID : 1860452043
Status : Answered
Chosen Option : 4

QS5 ;g 6-pole DC machine, 90 mechagica degrees corresponds to how many electrical degrees?
Ans of 1. 290

X 2 180

X3 30

X4 45

Question ID : 1860452057
Status : Answered
Chosen Option : 1

Q.6 'Tﬁeopgn-ci'fcuit Chamatensuc of a DC generator is also called as Fo o
Ans x 1 external

¥'2 1o load saturation

X 4 internal

characteristics,

ey

181N
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Question ID - 1860452035
Status : Answered
Chosen Option : 2

663/15446871 .

Ans « 5 EI.'OII 193363
X 2 total losses
X 3. copper losses

X 4 friction Josses

@7 An open circuit test on a transformer gives

Question ID - 1860452040
Status : Answered
Chosen Option : 4

* The armature of 4 DC machine is placed og the rotor to
Ans x “a dmsemm mﬂCﬁf}H

X2 reduce losses

X 3. save iron

¥ 1. support commutation

Question ID : 1860452034
Status : Answered
Chosen Option : 4

Q9 Forasi lex wave mnnd'genemt_or,aemfge_nef,atedpaﬁzsis given by

@ Flux/ pole in Weber

Z ; Total number of armature conductors

P : Number of generator poles

N': Armature rotation in revolution per minute (tpmy)

= W1 (pzPNyi20
<2 ($PN)/120
X 3 ($ZPNy/180
X 4 ($ZNy/60

y .

Question ID - 1860452056
Status : Answered
Chosen Option : 1

Ans X 1. shunt
¥ 2 series
X s differentially compound
X 4 cumulatively compound

g motor runs at the highest speed when the load is removed:

Question ID - 1860452037

Status : Answered
Chosen Option : 2

" capaciiér~stangmt¢r.i;as-a o

https:/lcdn4.digialm.oomle'lper!go1 /pub/1 258Itouchstone!AssessmentQF‘HTMLMode 1/11258018428/ 125801 842855D663/1 544687164141 914... 16/30
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** o 1. high power factor

X 2 low efficiency

& 3 low power factor

X+ high starting torque

Question ID : 1860452049
Status ; Answered
Chosen Option : 4

3" Mo obtain greate efficiency;the slip of an induotion motor should be ___
A K 1. very high
X 4 high

Question ID : 1860452046
Status : Answered
Chosen Option : 3

o i?Iitjx;.k.s@.!i.tf;bhasé}ir_@éti@ﬁqngm@ior;;lthé two stator windings __
A X +. draw only the in-phiase currents
X 2 draw equal currents |
¥ 5. are mutually displaced by 90° electrically
X +. have equal R/X; ratio '

Question ID - 1860452052
Status : Answered
Chosen Option : 3

%1 ﬁ;écuﬂmx_t:drﬂwnbya EZO'VDCmuiarbfmmm resistance 0.5 £ and back emf |80 Vis

Ans 13A

X208A
Vs 80A
~ 4 18A

Question 1D : 1860452039
Status : Answered
Chosen Option : 3

&' Three-phase wound fotor motors are commonly called as
A" of 1. Slip ring

X 2 Series

X 3. Commutator

X 4. Synchronous

motors.

Question ID : 1860452047

Status : Answered
Chosen Option : 1

R/1 7RRO1RA‘)RRRHRR’QI1RMRR71RA141Q1A 1710
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] SEsRutsp,
% A washing machine generally employs a motor..
A X 1. hysteresis
X2 single-phase series
X 3. shaded pole
V4. resistance split phase
Question ID - 1860452051
Status : Answered
Chosen Option : 4
4 Rummag the machine at no load js Notr recommended for afan
gnd 21 ‘synchronoys: motor
vz pe series motor
X3 Do shunt motor
X 4 induction motor
Question ID - 1860452038
Status : Answered
Chosen Option : 2
%' The function of dummy coils in DC machines ; Bilo,

AN ¢ increase efficiency
” 2 :;nprm'e-co:nmut_a_tipn.

Question ID - 1860452036
Status : Answered
Chosen Option - 3

%-1 A transformer fas 400 W as iron Joss at full load. The {ron foss at haif full load wil] pe
A o 1. 400 W
X2 800w
X 3 200w
X4 100w
Question ID - 1860452044
Status : Answered
Chaosen Option - 1
%2 A two-pole alternator is funning at 1,500 rpm, 1t angular velocity wil] be A
Ane X 1. 315 rad/’s
V' 2 157 radss
3 192 radss
X 4 118 rad/s
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i Status : Answered
: Chasen Option : 2

it eddycﬂrrentiess
X 2 hysteresis loss
X 3. leakage reactance
X 4. copper loss

.
—_—

Question ID : 1860452041
Status : Answered
Chosen Option : 1

Q2 The magnetic fiux density on the surface of an iron face is 15 T, whic

2 femmagaeiic matetial.Fing the force density: on the jron tacs, < 1 tYPleal satugation level vaiue of
X080 108 N/

v 0.89 * loﬁmeE

X '0559*:'15%@-

&4 0.50% 106 pym?

Question ID - 1860452055

Status : Not Answered
Chosen Option : --

kS Léakageﬁtmmﬁ'aasfoxmer.___

A X LR negligible at full load

4 _

s minimised by interleaving the primary and secondary windings
X 3. helps in the transfer of energy

# 4. produces mutually-induced emf

Question ID : 1860452042
Status : Answered
Chosen Option : 4

22 The magnetic flux path in a transformer must have
e i

X 2 low resistance

v low Iéluc.tance

X 4. high reluctance

Question ID : 1860452054
Status : Answered
Chosen Option : 3

Section : Electronics

MI Mnade1 /11 258018428/1 925811 RAIRQENARARI1RA4RRT1 RA14A1Q14 10/n



Question ID : 1860452073
Status : Answered
Chosen Option : 4

2 State the correct condition for transistor fo operate in cut-off region.

" 1. Emiter base junction: forward bias
~ Collector bas-éﬁlxicﬁon:'.reversé bias

v . Emitter base junction: reverse bias

Collector base Junction: reverse bias
X o. Emitter base junction: reverse bias
 Collector base Jjunction: forward bias

X 4. Emitter base junction: forward bias
~ Collector base Junction: forward bias

—W

Question ID : 1860452070
Status ; Answered
Chosen Option : 2

@3 State the respective ripple factor and e iciency of a full wave rectifier.
Ans o1 048,819
X 2 0.40, 80%

X3 1.21,40.1 %

X 4081, 48%

Question ID : 1860452072
Status : Answered
Chosen Option - 1

Ans  oF 1. 8-'bit-com’eﬁel'

X 2 12.bit converter
X % 10-bit converter
X 4 16-bit converter

Question ID : 1 860452064
Status : Not Answered
Chosen Option : =

@* The binary equivalent of decimal 22 s:
Ans X 1. 11010
¥ 10110
X3 11111
X 4 10001

hﬂps:llcdM.digialm.com]llper/gﬂ 1/pub/1 258}‘t0uchstone/AssessmentQPHTMLMode 1/11258018428/12580 1842855D663/15446871 64141914, ..
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Question ID : 1 860452067
Status : Answered




2/19/2019

T

8 The product of the two bmaty
Ans X 1. 11160

V2 10010

X 3 01110

X 4 11001

Ans x., (ﬁ‘iﬁ)s
X 2 (5545)8
X 3. (4564)g
v 4 (5464)g

Q7. State the wm equ;vaieat ofhexa demmaxnumber (B34)5

numhers Dli and 110 i is:

Question ID - 1860452066
Status : Answered
Chosen Option : 2

Question ID : 1860452074
Status : Answered
Chosen Option : 4

.l &+A8getsslmphﬁedm
Ans x 1. AB

X2 A+p

X3B

via

Question ID : 1860452068
Status : Answered
Chosen Option - 1

Ans ¢ 1. Hartleyosc:liator
X2 Colpitt’s oscillator
¥'s. Crystal oscillator
¢ Phase-shift oscillator

@9 Among the following, which j is a fixed frequency oscillator?

Question ID : 1860452063
Status : Answered
Chosen Option : 3

o X 1. side band

X 2. resonant
X3 half resonant
" halfpower

Q 1 The lower and upper cut-off frequencies are also called as_____frequencies,

[ Question ID : 1860452061 W
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Ans x 1. 9g°

Ribbenas dnad s ol upuunz:)wtouchstonelAssessmentQPHTMLMode1[/1 25801842

0-1 The output and input voltages of an e;nitter—

Status : Answered
Chosen Option : 2

8/ 125801842855D663[15446871

Question ID : 1860452062
Status ; Answered
Chasen Option : 3

Q.1

Ane 1. negative jons
X2 positive ions
X 3 holes

v 4 electrons

G

2 Thecharge -e:arr,iers-“ﬂiichhavﬁ-th@greafe‘st;inébiﬁiy-ar@tthe;. .

Question ID - 1 860452058
Status : Answered
Chosen Option - 2

Ans x 35, 53
X 2 46,65
¥'3 53,35
x4 65, 46

Question ID 1860452069
Status : Answered
Chosen Option : 3

VNL: Voltage at no load
VEL: Voltage at full load

A"s X1 amphﬁers

%' Voltage regulation i given by:

e X (g FVELVNL) *100%
X2 (VN + Ve (Vep)) *100%
V'3 (VL - VEDA VL) *100%
X4 (Ve - VEDAVA)) *¥100%

Zeaer d:odes areusedas

Question ID - 1860452075
Status ; Answered
Chasen Optign - 3
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| X2 oscillators
X 3 rectifiers

&) voltage reg&;fatarg

LR L]

Question ID : 1860452059
Status : Answered
Chosen Option : 4

i ’I’hﬂdwvak;eef(:‘m;s
Ans VT o

XZ-—m

X3

x40

M.._

Question ID : 1860452065
Status : Answered
Chosen Option : 1

A"s X ' collector feedback
X2 emltter bLas
X 4 base bias

glln

° 1 The circuit which produces the best stabﬂisatmn of an opemnng pointis

Question ID : 1860452060
Status : Answered
Chosen Option : 3

X 2 11.538 pA
Vs 462 A
X 4 462 mA

Question ID : 1860452071
Status : Answered
Chosen Option : 4

Section : Measurement

1 95 two-part tariff is used for ___ consumers.
Ane. 34, agricultural

X 2 domestic

X 3 commercia]

v 4. industrial

Question ID : 1860452087
Status : Answered
Chasen Option : 2
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3. phosphor bronze
4. nichrome

to all candidates,

Note: For this question, discrepancy is found in Question/answer. Ful| Marks is being awarded

Question ID - 1860452085
Status : Answered
Chosen Option - 2

Ans 8 pins
X 2 6pins.
X 3. 7 pins
X 4 9pins

B

”‘W—m

Question ID - 1860452084
Status : Not Answered
Chosen Option : -

a4 Megger is essentially a:

A X 1. shunt-type ohmmeter
X 2 series-type ohmmeter
¥ &) nega-chmmeter

# 4. dynamometer

Question ID - 1860452076
Status : Answered
Chosen Option : 3

¢ Alr friction dampingfisused_iaafan___;inst.mmenfﬁ---
APS 1. moving coil

2 induction

3. moving iron

4. hot wire

to all candidates.

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded

Question ID - 1860452080
Status : Answered
Chosen Option : 3

# > Whealstone

https://cdn4.digia[m.comlllperlgo1/publ1 258!touchstonelAssessmentQPHTMLMode1/!1
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Question ID - 1860452078
Status : Answered

L Chaosen Option : 4

\n electrodynam e.wrmofmshumemxﬁﬂdxtsmajoruseas*
e thaﬁfansfer mgtmmenton!y

Question ID : 1860452082
Status : Answered
Chosen Option : 4

Question ID : 1860452077
* Status : Answered
Chosen Option : 1

92 Integrating meters are used for the measnremem. of:
Ans x 1. phase | .

& 2 current

X 3 voltage

< energy

Question ID - 1860452079
Status : Answered
Chosen Option : 4

. Elecfmsmnc -type instruments are primarily used as:
Ans X 1. wattmeters

X 2 ammeters

X 3 ohmmeters

v 4 voltmeters

Question ID : 1860452086
Status : Answered
Chosen Option : 4

hﬂns:lfod'n4.diaialm.mm/ﬂnerfnn1lnr 1h/1 958/ntrr‘.hgfnnnlAcqneqmnntﬂDl—lTMl Mada1/119820v1 24981125811 RAPR/ENARU1GAARATIRA1 4404 4 2820




X 3 high
¢ safety does not depend on resistance

o ,‘..-_.mu.wuu...uum.wper.'guwpubn258ItouchstonelAssessmentQPHT-'MLMode1//125801 8428!125301 8426850663]15446871

Question ID : 1860452083
Status : Answered
Chosen Option : 1

%' The number of basic SI units js:
Ans x 1 4

27

Xas

K6

Question ID : 1 860452081
Status : Answered
Chosen Option : 2

Section : Control System

e Determine transfer ﬁmctidniifmé.impﬁlse response is e 21,
g Tt _ ’ e :

Y &) 1(s+2)

X o 1(s+2)?

x a 1 i.'i_s _,.2)2:'

Question ID : 1 860452091
Status : Answered
Chasen Option : 2

At o 1. phase Cross-over
X 2 break

X 3 critical

X 4 cut-off

Q2 The frequency at which the phase angle is 180 is called the frequency.

Question ID : 1860452089
Status : Answered
Chosen Option : 1

% The phase shift of asecond-order system with a transfer function I!sz'is':,
Ans ¢ 9p°

2. 180°

3. —ogo

4. —180°

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded
to all candidates.

Question ID : 1860452090
Status : Not Answered
Chosen Option : -
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Q4 An}' Physrca! system that daes NOT automatically correct forvariation in its output is dan;
X3 stable system
X 4 closed-loop system

Question ID : 1860452088
Status : Answered

Chosen Option : 2
P Sy

S4stsrg

A K 1. Critically stable
' 2 Unstable

X 3. Absolutely stable
X + Marginally stable

Question ID : 1860452092
Status : Answered
Chosen Option : 2

Question ID : 1860452093
Status : Answered
Chosen Option : 3

Section : Material system

Q1 Which nf the following i isNOT an example of a semiconductor material?
A" o 1. Copper

- X 2 Silicon

X4 Germa.mmn

Question 1D : 1860452098
Status : Answered
Chosen Option : 1

92 Which of the following is an example of a monoclinic system?
Ans x T can
X2 Naci

271N
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W 4. FeSOy

Question ID : 1860452096
Status : Not Answered
Chaosen Option ; ==

@3 ___isamaterial that is used to ma&e cabie sheaths
Ans X 1. Alumininm

& 2 Cast iron

X 3. Capper

W]

Question ID : 1860452094
Status : Answered
Chosen Option : 4

Q4 What is the atomic packing factor for BCC and FCC, respectively?
Ans: ¢ 1. BS&,O'M

2 0.68,0.74
X3 052,078
K 4 0.74,0.68

e S e

Question ID : 1860452097
Status : Not Answered
Chosen Option ; ==

Q5 State the electronic configuration of Argon.

A X 1. 1522p22p535236
X2 1s2p2 633'2336'
Xs 15275*23 23p5

v 1'322522;}6332313 :

Question ID : 1860452099
Status : Answered
Chosen Option : 2

® What is the coordination number of a body-centred cubic structure?
Ans ¢ 1. B

X24

P b

X446

Question 1D : 1860452095
Status : Answered
Chosen Option : 2

Section : Rest

Q1 The maxisu firing angle that caa be obiained by a pure resistive rigger circuit used in phase coutrol circuit s

ht!ps:llcdn4.digialm.oornlllperlgo1lpubﬁ258ftouchstonelAssessmentQPHTMLMode1// 1258018428/1258018428S5D663/1 544687164141914...
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“Ans v 2% gao
X 2 135°
X s 180°
K 4 450

Question ID : 1860452102
Status : Answered
Chosen Option : 1

Q.2 o cails i differentiat connection have self-indbefance of 2 i and 4 mH and a mutual induetance of 0,45 L, The
equivatent inductance of the combination will be:

Ans X s ?mﬂ
X 2 i
X3.65mH

Question ID : 1860452103
Status : Answered
Chosen Option - 4

a3 Bucmm}zrelay is a/an:

Ans ¢ 1, W;.ach;atedrelay

vz gas-aﬂﬂﬂmmla}’

X 3 oil-actuated relay

X+ oil temperature-actuated relay

Question ID : 1860452101
Status : Answered
Chosen Option : 3

@4 HRC fuses provide the best protection against:
Ans x 1. sparkmg

+ 2. short circuit

X 3. lightning

X + e

Question 1D : 1860452100
Status : Answered
Chosen Option : 3

WWJ

e _combinied together are called stray losses.
Ans 3K 1. Copper and iron losses

X 2. Field copper loss and iron loss

'3 Tron and mechanical losses

X 4. Frictional loss and copper loss

Question ID : 1860452104

Status : Answered
Chosen Option : 3

G
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Q8 “When the gain margin is positive and phase margin is negative; the system is:
Ane 1. highly stable

X 2 unstable

X 3. oscillatory

W 4. stable

Question 1D : 1860452105

Status : Answered

Chosen Option : 3
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